2.
: . > 25%(  GB11175- 89)
LD- BS- 1 > 60%
3 LD-BS-1
: LD- BS- 1 5.
1 ZT-22
7122 2009 49 O 5
2009 2 o %
o % h
1.1 . 1 20 4+4 100 0.6 44.4+61.22 2
N 2 20 8 100 0.6 67.45 --
1 3 40 12 100 0.6 72.16 --
m 4 20 24 100 0.6 84.50 --
O @ M%) %) ¢ m m 5 40 24 100 0.6 80.00 --
Zs1 95.14-122 Ess 27066- 27110 27990 6 40 24 50 0.6 63.16 --
94.12.11-18 Es2x 27623-279041 0 125 0 187 7 40 24 50 0.6 66.52 --
ZM01M2 07.6.16-8.29 Es2s 3493.7-3509.3 194 22979 4018 669854 227 8 40 2 50 0.6 51.00 --
0769-16 Es2x 3585335950 0 65 0 899 9 40 4 50 0.6 57.00 --
0761-9  Es2x 3654.1- 3668.0 0.0865 196 0.043 13 90°C )
5 5 1
(m) (M pa) 20% 11 4 44% 9 1
Zs1 Es2s 2697.6 36.57 1.36 95.01.05 20% 40% 4 S57%
Es2x 2765.0 36.24 1.31 94.12.11 4 5 20%
Zh01M2  Es2s 2765.3 36.19 1.31 07.08.05 20% ~40% 6 7
Es2x 2817.2 38.05 1.35 07.6.9 5
Es2x 2869.4 37.94 1.32 07.6.1 24 4 i
6
3
(m) (gfom?) mpa.s ° >
D420 D450 (C) (%) (%) (%) 50C 80T 12.33( 30%)s
Zs1  Es2s 2706.6- 27110 0.8865 3 240 163 03
ZM01M2 Es2s 34937-3509.3 0.8487 08273 25 1583 1471 0.1 41 0- 3050m 89mm
Esox 3654.1-3668.0 0.8649 08443 31 17.34 1844 009 73mm  3050- 3825m 73mm 62mm,
1.2
4 o
49 3812.2-3823.0 pH 12
1.06g/cm?, 6
m moom i
M) (%)10- 3y m2 LD-BS- 1 6
1 Es2 49 38122 3827.0 1480 38122-3823 108 s0C 14
3827.0 38387 11.70 100
38387 38453 6.60 .
49 10.8m. 16 176
1cm 100 cm . ( : :
° ° )N 35MPax 5min
1.3 7
100°C
1.4 2 1 .
2009 2 49 3 1
1.43 g/cm3
1.55g/cm3 4 40m® 4 .
( 1.04 _5 80m’
g/cm3) 4.2 @ 16m?
2MPa ©® 4m?
24Mpa ® 6
- 90- 100°C 0@
2 LD-BS-1 5m3 24MPa ®
: (G 6 0®
20C :1.0~1.20 GB/T 2540 5m3 24MPa @)
pH :12~13 pH 6 0
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( )
:LED 0 N
350 7.55 LED . LED ( )
0, ~
° 10100A) LED 1~2 /m_ 8
: o= BFNE
g - =T WNEAR
e =ZZT _SAREE
0 = R
o i - «
N i e, B g
‘ _l_ \\\_ ._,_/-—\\Q_,./
4 LED
o 4.1 LED 6- 24V
LED 0
1 4.2 80% LED
1.1 1600° 1/10 1/4,
4.3 o
1.2 5-10 / o
o 10 50%
o o 1000 4.4
2 . o
2.1 N 4.5 . LED
22 5
o o LED LED 4
3 LED 10 100W LED
50 250 576° . 10
1960 .LED light emitting diode 10
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5m? 25MPa @ BaSO, m=1.19- 0.74=0.45g
6 0
10m® 11 10m?® 12 100ml 0.99.
013 60m3 5.3
5 5311 .2 20m?
ZT- 22 2009 7 5 40m? °
o 532 3 30m?® pH
1234 1 2 20m? 3 o
30m3 o 5.3.3 4 30m3 pH 8
5.1 12 pH (=12) o
=7 BaCl, - 3 1 pH pH , 4 pH pH
=7 BaCl, .4 pH =8 ( ) . pH Ba(OH),
BaCl, - BaCO,
52 4 50ml 4 0.99/100mL
0.1mol/l  HCI pH=3 HCl  3ml 100mL 0.6g 84.5% 100mL
70C 5min N 0.5g
50ml BaCl2 2min 100°C
15min - 90C N
o 6
m,=0.74g LD- BS-1
m,=1.19¢g o
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